Practice Test Y

).

Most instructions agree that during instruction the ability to listen and interact
well is more important than ------ .

(A) A good speaking

(B) to speak well

(C) Speaking well

(D) You speak well

In the majority of mammals, ------ instinctive response to environmental stimuli
or primitive analyzing capability.

(A) Intelligence mostly

(B) Most is intelligence

(C) Most intelligence is

(D) The most intelligence

A Cardboard Palm tree tends to grow up to about < feet tall, and its leaves tend
to be ------ its height.

(A) The same length to

(B) The same length than

(C) As length like

(D) The same length as

. The instant ------ with gasoline, a fire starts which is sometimes followed by an

explosion.

(A) Oxygen reacts

(B) Oxygen will react

(C) Oxygen is reacting

(D) The reaction of oxygen

Sautéing -------------- the cooking technique whereby small cuts of lamb are
cooked in a small amount of hot fat.

. The price of a truck tire is significantly higher -------------- .

(A) In comparison with the price of a car tire
(B) Than a car tire

(C) Than that of car tire

(D) To compare as a tire

--------- owe their beauty to their long hair.
(A) Persian cat

(B) That Persian cats

(C) Persian cat

(D) Persian cats

---------- The extinction of the mammoths which lived during the Ice Age was
partly caused by man.

(A) Generally believed it is

(B) That is generally believed

(C) It is generally believed that

(D) Believed generally it is



q. Further to the conventional drugs, --------- are still an option for many patients.
(A) Remedies naturally
(B) Remedies of nature
(C) The nature’s remedies
(D) Natural remedies
) «.To prevent any microscopic scratches the glasses ------ much softer cleaning
cloth may be used.
(A) So
(B) So
(C) still
(D) still
) ). The perceived weight of a smooth cylinder is greater ------ .
(A) In comparison with the perceived weight of a rough cylinder of equal weight
(B) Than a rough cylinder of equal weight
(C) Than that of a rough cylinder of equal weight
(D) To compare as a rough cylinder of equal weight
\Y.Scientists have been experimenting “steel plastic”, a form of ------ that can
replace steel.
(A) Is plastic so hard
(B) Plastic is so hard
(C) Plastic so hard
(D) So hard the plastic
\Y.Building on the idea that air has mass, he came to believe ------ swimmers in the
air.
(A) Are birds actually
(B) That birds are actually
(C) Which are chart birds actually
(D) Is birds actually
)5, memmmenee Complete by the teacher, an essay should include a conclusion and a
bibliography.
(A) Regards
(B) So
(C) To be regarded
(D) Regarding

Yo.Usually strokes happen ------ a combination of factors, such as certain medical
conditions, inherited characteristics of unhealthy lifestyle.
(A) For
(B) Of

(C) Because of
(D) Because
V1. The longest night of the years ------- :
(A) Known as Yalda
(B) Knowing as Yalda



(C) It is known to be Yalda
(D) Is known as Yalda
\V,-==------ Blood sample is provided by a person it will be possible to identify many
blood diseases in a modern laboratory.
(A) A
(B) That a
(C) Ifa
(D) When itis a
YA.For a long time movie script writers have been considering ------- themselves
from the writer’s guild.
(A) Separate
(B) To separate
(C) Separated
(D) Separating
1q.The only historical seven-story building to employ special acoustic features, ------
(A) Ali Qapu place in Esfahan, was completed in YoQV.
(B) Esfahan, Iran, Ali Qapu place completed in YoAQV.
(C) Because Ali Qapu place in Esfahan, was completed oAQV.
(D) Ali Qapu place in Esfahan, in Yo04V.
Y -.Fish is cooked on fire and in the oven ------- in the pot.
(A) More frequently than
(B) As frequently than
(C) More frequently as
(D) Frequently as
Y\.A professor should provide students with ------- making them responsive to the
demands of a technological society.
(A) Both theoretical and practical understanding
(B) They understanding is both theoretical and practical
(C) Both theory and practice understand
(D) Understanding of both theory and practice

YY.-=mmmeeee to sound waves interfere constructively, the will produce a louder sound.
(A) That
(B) If
(C) So that
(D) They are
YY.-mmmmmme a neutrino hits a proton then a neutron and a positron will be formed.
Y<.The moment people do not simply follow the same work habits ------ in playing

for an organizational environment.

Yo.The degree to which a child is influenced by either or school cannot verified, but
a number of ideas have been proposed.

Y1.Before he settled in Quniyah, Molana had already visited many cities of the
Islamic world and began to contemplate life.



YV.The statistics on the Iranian panther are limited because there are too little
information and because this animal may be regarded as very shy in the wildlife.

YA.A west African berry, known scientifically as Synsepalum Dulcificum, makes sour
foods taste sweetly for about an hour after being chewed.

Ya.Traditionally there has been two significant dates corresponding nature in the
Iranian calendar, Yalda and Noruz.

Y «.Archeologists had previously estimated that Teppe Hasanlu in North West Iran is
about Yo- + years old, but now because of the unexpected discovery of the
famous “Gold bow!” they agree that its age is closer to the Iron Age.

Y).Sa'di seemed to admire the idea of having a balanced life and to relinquish the
more dejecting idea of seclusion.

YY.An electrical engine like that installed in a food processor will not rotation until it
is switched on and electricity starts to flow through its coils.

YY.The pink jade said to have such a strong effect on the nervous system that even
if one holds it in their palm, they can feel the resonating energy.

Ys.The MSRT test will measure your ability to comprehend oral communication, to
recognize proper grammatical forms, and understanding written material
encountered while studying at university.

Yo.Barnacles, which are related to lobsters, shrimp, and crabs, make strongest glue.

Y"1.As many other counties, Iran has survived many foreign invasions all along its
history.

YV.Some tropical plants usually from clusters of foliage on living or dead trees to
which cling to by their roots.

YA.One of Iran’s well-known scholars, Farabi, said to have been killed by robbers
while travelling.

Ya.In summer, air temperature in Dasht-e Kavir, near the city of Yazd, have been
known that reach o+ of degrees Celsius.

£ +.In March to July, the Hawksbill turtles visit the coastline of the Persian Gulf to
digging hole and lay their eggs.

£\1.If he having been able to continue playing the piano, he may never have begun
to smoking.

£Y.From inside the womb, a fetus is able to vividly hear both the sound of its
mother and the sounds of the environment.

£Y.Fish cultivation has been practice in many part for many years.

£5.The most important part of the film is the climax, which should contain verified,
but a number of ideas have been proposed.



